HENEREREES i
TH4E1H2 48 (H)

$:550) (847 : kg)
EES G miEH B = = 1B Z 1B " =

SE 2168 THI 73.7 26 20
£S5 1,367.0 698 150
BAS LA 250.7 222 20
AL GHLA 63.6 539 140
JUALA 279.8 850 50
YA 77.5 2,430 289
LSHLA 176.4 550 20
FHALA 25.1 393 30
FHHLAFE 35.0 2,683 2,543 |
VFELSSLA 514.4 923 80
<HLA 78.0 500 189
R3BLA 20.2 82 36
SCh 47.2 66 20
FF 508.3 1,100 20
FF S 778.5 | 16,900 1,200 |G D
2097 130.8 180 20
<7+ 56.1 559 219
TVAYTAFX 105.3 181 20
F7> 07 1,361.9 489 89
HFHES 330.1 30 20
FAF A 63.2 860 66
2% 477.1 289 39

IR 6,746.2




[f¥fa] (BT ¢ kg )

FRZETELE AfEE W =2 = B Z 1B fm &

SHE 218 <Y 30.3 65 20
HH=HA 22.3 30 20
HOINE 21.2 541 200
JESHAN 59.5 41 29
tIOETE 594.0 8,369 1,000
ZOAH= 1,185.9 4,444 792
ZOAHZAR 362.6 1,850 696
ZILAA B 24.0 401 250
YUAH 122.1 920 269
U A D5 135.0 5,678 1,719 |G 2"
SIINSESy 81.2 465 200
<4 159.4 789 129
=247 68.4 666 389
4T 407.1 596 51
AFF<3 349.7 1,539 1,000

aituE 10,338.6




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &

BERXNFIE 1352|5X 108.7 820 150
RAAIH LA 183.6 600 200
JUH LA 241.1 730 159
LZHLA 711.1 441 20
124 25.7 100 20
<AOLA 1,706.2 399 129
XA LA 2,566.2 211 20
<55 910.1 130 20
F+77>39 208.2 390 100
HFHS 243.0 40 20
>0OX/)VUlL 448.3 929 301
FWRX)UL 83.1 544 50
v+ 20.8 400 20
TISHATH 21.9 110 61
AXF 141.2 256 20
JdEHAN 415.8 78 20
TRIRD 80.3 550 20
ESWYXHZ 49.2 401 131
Y= 29.4 4,019 500

fInERfE 102 AHITSITA 244.7 2,550 2,000

LB 28 dEHAN 51.1 78

INH S 8,489.7




€::3-2)

(EfZ : kg )
pHE i miEH B = = 1B Z 1B " =
BTl 6% Ry FHA 1,142.0 380 130
e 9 JUH LA 32.4 600 100
EXTVRS 34.5 211 80
DOOEGE 318 |EbIOY 1,335.5 350 250

D

T2

11,034.1




67::) (BT : kg )
SRR AfEE ® 2 5 1B Z B fm &

HE 218 B X 136.0 1,100 500
<73 231.2 1,200 800
<5 54.3 800 400
=X451 72.8 600 500

BEIEXFRIH 1358|555 X 2,060.0 1,500 400
12HLA 177.3 600 200
XA LA 368.8 300 100
JA5S 82.3 200 100
F+77>39 94.8 350 100
o0av4 44.7 550 100
74 F A 22.7 800 200
AXF 329.1 330 250
N2 23.0 3,000 1,300
<5 24.7 600
=X451 24.2 600

$89n 8% E=X 487.7 1,500 600

mne 9& TISHATH 35.5 50
<45 231.4 900 800
=X457 56.5 500

D
[ =]

T2

4,557.0




